HA4VSO R5liimdZXR/R
Variable displacement Pump HA4VSO

HA4VSO RIImHEETER
Variable displacement Pump HA4VSO

#H& size 40.....500
10/22/30 %% series
#i7E[E 1 7T3& 35MPa Nominal pressure 35MPa

I {E E 1 7T3i% 40MPa Peak pressure  40MPa

B # Contents

—. BUSRBA Ordering Code.......ooevrrrverrrrrenres 83 75 FRHIEBSS Control Parts.........cevvveevveeeeersessssesssssesssseesssssssiseessess 86-89
. THITERE Fluid choiCe.. . mreeeeerereeeeeenens 84 +t. REALE Installation POSIION.........o.evvreverreereiersereeersesseressnens 89-90
=. HH&ITHE Specifications terms........oo.oeveenen. 85 I\, ERMHE R Dimension & size of the hydraulic pump.......94-97
M. BARSEL Parameter.....oooovoveeeeeeeeeeeeeeeeeens 86 f. EHIREH Through drive.........cocoeveeieeiieeieeeeee e 98-99
H., BERRAITIRE +. BARTHRT Dimensions combination pumps................. 100-101
Implementation standard of the hydraulic pumps....86 +—. 1EH3EE R~ Dimensions Through drives..........cc..coov..... 102-103

¥F & Features
1, fERREETER

Swash plate axial piston pump.

2, RIERMNFREIELL FREFERMEEE

Flow is proportional to the drive speed and to the displacement.
3. MAdETRERAERIALTHREE

Adjust the angle of swash plate to realize the stepless variable.
4, BUETIEEAN WL 35MPa

Nominal pressure reach to 35 MPa.

5. R AR FFIE

Good suction characteristic.

6. EAKHES, BRHEMHK

Long service life. High-precision bearings.

7. A&EEMTRE, ERE, BREF

Have the structural design of compact, light weight, low noise characteristics.

8. MEFHBRURSERES

Hydrostatic balance Slipper, improve the life of pump.
9. FEHINEA RE

The sensitivity of control system.

10, HHREBEETRE

With swashplate angle indicator



& BREE

HENGYUAN HYDRAULIC

H|-|E [ A4VS|O |40| DR} / |10

Z | B[13]NOO

—
fEEAE Hengyuan Hydraulic

I
54538 Miterial oils F4718 No code
Hifk HFA;HFB AND HFC-Fluids E

I
TER, HELH
Variable displancement pump swashplate design

[
R, FE# Pump,open circuilts

I
#8& Displacement Vg max(ml/r) 40 71 125 180 250 355 500
I

#HA
Controller 0 T 125 180 250 385 500

DR-EEEH
Constant pressure control % |k [ | ¥ | [5lr [5

LR-EMAEEU N ELS

Constant horsepower control

M-FEH

Manual control

EC-R S Bl

Electrical control

HD-BERS
Hydraulic control pressure control

Sl =SS
e ] e = =2

*
*
*
W

> | % | % | =
N I S I S
% | % | *
T % | % | *

f
%55 Series

40 71 125 180 250 385 500

ERBR, TARE
without auxiliary pump e | 9 |3 [ [P |5 |57 NOO

and through drive

HEMED ASAR
with through drive

for combination pump
HHEM Fub/shaft FIERERES to accept
W3202x30x14x9g A4VSOIG40 || Je
W402x30x18x9g AVSOGT1 [—] Je
W50x2x30x24x9¢  A4VSOIG 125 [— | —
W50x2x30x24x92  A4VSO/G 180 |—
W3lx2x30x28x%  A4VS0/G 250 [—
HEHEE, THE, BER. Ly
With through drive,with cover closed

—
T{EMD service line connections

{ B OB L
auxiliary pressure port B b 4b b 4b 4b dhxdhieIRk]

Metric fixing screws
M OB Ak =ik
pressure comnection Bl e | [Fe phe e e |5 25

comnected by flanged
1/

$334= Mouning Flange
15047 bk |k ok e e [ve|—| B
15087 ok === {=[=I=P¢ H

11 Pt
| P
R o e el
il 4 e e
il e e
2 BlRIRgI2

%
T
S

T
HE¥E 718 Direction of Ratation

Jik:T JEFS5 clockwise R
With view on shaffend Bt comterclockwise L

N
A4VS, 40, DR, 10, R, P, Z, B, 13, NOO

A4VS TER, Mg 40, EERF, 10 &I, WEEE
FHFEP, RFEEZH 47, ¥BhmO Bl HBGUEEE,

T B IR T E IR T

- 1

iR shaftend
T Gb1096-79 Keyed shaft

{8 DINS480 Splined shaft

N T

B seals
TH#B  NBR(Nltrlle Rubber)
BB FBR(Fluaro-rubber)

< T

e Ordering Example:
A4VS, 40, DR. 10, R. P, Z. B. 13, NOO
Axial piston variable displacement pump A4VS size 40, with
constant pressure control,series 10, clockwise rotation,Keyed
shaft, auxiliary pressure port Bl Metric fixing series, without

Auxiliary equipment.



HA4VSO R5liimdZXR/R
Variable displacement Pump HA4VSO

i

* A TRIELHMOBHINE, ERITRGEHEMRE DRFHREFRERGNRER, AT WRHERMEZE LSEATREE
ER, REANRTAESE, HESRENXR, FERALMERNORT, HEHERY, ISSMASBERE.
In order to ensure the selection of fluid trouble-free and high-performance work, In the systems design period, you shouldchoose the
hydraulic fluid of the hydraulic system be based on conditions carefully. All the mineral oil are extent applicable to the axial piston unit,
which application of the basic division of the above depends on the relationship of the water, temperature and viscosity, and consider
axidation and corrosion, protection Material compatibility, air and water separation properties.

* ATRIEEFAEROERSS, SARTRIFAIREMALIE, MRPHOTRSATGETUTES:
%45 18/15-- 3% GB/T 14093-1993
%4 6 & SAE
%45 18/15-- ¥ 1SO/DIS 4406
In order to ensure long service life of equipment, must be good and reliable filter.

Fluid pollution of particles should not exceed the following levels:
Grade 18/15--In accordance with GB/T 14093-1993

Grade 6 In accordance with GB/T SAE

Grade 18/15--In accordance with GB/T 4406

* ZERBERERE [75C<t,<90C] i, RIRFEFERN:
L 4% 17/14-- 32 GB/T 14093-1993
%95
%45 17/14-- #%2 1SO/DIS 4406
Fluid in the high temperature [75C<t,t<90C]:
Grade 17/14--In accordance with GB/T 14093-1993
Grade 5 In accordance with GB/T SAE
Grade 17/14--In accordance with GB/T 4406

*Oh T EMREREER, MANESHIERESXNIERE, EREBEREBE 00T, EEETERE TERIERSE
16~36mm?¥s M ER. FISEFMTEREFERERNIEE, EEMIRTHEARVEBHNNESR, ISEUTER:
In order to choose the correct hydraulic fluid, you must be aware of the ambient temperature related to the working temperature, the
temperature requirements is no more than 90°C,working viscosity is 16~36mm?s. Please refer to the following chart, choose the viscosity
of the hydraulic fluid. Select the highest level of viscosity as possible in each working conditions.

-20 o 20 4r 60 80 100
1000 =i 1000
BDD \\\\ \L\\ \‘\\L‘\ ‘\‘\ 1\\
400 <
2200 NN
N
2100 N \\\\i\
S 80 h — A
w 60 Y B o % LY
o L AT A TR L
= N A AN
= 207 — >
> -
Bt 15 —16
:E \\ \\ \\ \\ B %
10-4+——— T N R 10
-28 .10 10 3¢ 50° 70° O90ER
[ - {ﬂc::i'CI
tmin=—25°C il 1A O 1 tma= +90°C

Fluid temperature range



S BERE

HENGYUAN HYDRAULIC

Eohbis Q=v,.n.n,/1000 L/min

R - M=1.59v . AP/10n N.m

hE.: P=M.n/9549=Q. A P/60nt kW

iE VQ=HFI mL/r AP=E% MPa n=Fi# rpm
n=BREE n,, =W nt= =

The output flow: Q=v,.n.n /1000 L/min

Torque: M=1.59v . AP/0ON,_ N.m

Power: P=M.n/9549=Q A P/60nt kw

Note:vg=displacement mL/r A P=pressure MPa

n,=volumetric efficiency n,,=machanical hydraulic efficiency

o % E3R TAEIE /15t El Scope of pump pressure

S A[#imA ] W& EH P, =0.08MPa P, _=3MPa
Port s[suction port] absolute pressure P, =0.08MPa P, _=3MPa
B A [ HimO ] KES BEES P=35MPa i&{t/E S P=40MPa

5 min

n=speed rpm

n=overall efficiency

Port B[drain port] pressure Nominal pressure P=35MPa peck pressure P=40MPa

HEESE [ U EBIRRE RN EMERYE )

Performance parameters[these figures did not consider the efficiency of mechanical and volumetric efficiency]

#tg  Size 40 71 125 180 | 250 | 355 500
HE \z‘M Displacement cm®/r 40 71 125 180 250 355 500
S @&fi#En ) Max speed rpm 2600 | 2200 | 1800 | 1800 | 1500 | 1500 | 1320
BRI HAt n=n__ L/min 104 156 225 324 375 532 660
Max. Output flow | wat n-1500mpm L/min 60 107 186 270 375 532 =
BmAThE LAt n=n__ KW 61 91 31 189 | 219 | 310 385
Max.POWER

(/A P=35MPa) %At n=1500rpm kw 35 62 109 158 219 310 -
A8 Max torquue AP=35MPa Nm 223 | 395 696 1002 | 1391 | 1976 | 2783
8 Torque ( AP=10MPa) Nm 64 113 199 286 | 398 | 564 795
HE[fMAE] Weight [approximately] kg 40 54 87 103 | 186 | 206 318

FE: 1) REERMShEO. 1MPai a3 E 1 ) B R #5385 3L

Note:1) as long as at the oil-absorbing holes,the absolute pressure reach 0.1MPa,what have shown numerical set up



HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

o FEEIN
a. EiliEiTh, REMREBBRE, FEETIERFRERBRS.

a.When tries the movement, the pump body must full filled fluid, and maintains the fills condition in the work time

b. AT RIS, TAEEEEEFEAERETEHMMERES,

b.To reduce the noise, all connection pipeline isolates with the flexible part and the fuel tank.

c. REETHEDRMAE, HihEH (REARFNREES ) A 0.2MPa ( BHEA ),

c.The divulges pipeline need to return the fuel tank directly, releases pressure [top pressure which the oil pressure in shell per-
mits] is 0.2MPa (absolute pressure)

d. EEEREN, EFHTHRGSE, RIETMANSHHEESHAER, MELISLIERRIEZAMO U KSR, Mt
aishA, FERAHRR—RAM R OHEE, U OS5tiER0 T/FD 0.2MPa E£, EMMERABHNFEHMAERELTE:
d.When vertical installs, we recommend carries on the bearing flushing, ensure that the front bearing and the axis seal have the
enough lubrication. We can use approaching the variable displacement pump flange’ s oil port U to complete, the flushing fluid
flows through the front bearing, and discharge to fluid leak port with the leak fluid of pump together. Port U with leak fluid port T
maintains approximately the 0.2MPa pressure Top.Size pumping station needs the flushing fluid flow sees the next table:

mEsze | 4 | 7 | 125 | 180 | 250 | 355 | 500
@ Flow L/min| 4 5 | 6 8 12 | 16 | 20

e. HHEREEAMEENNBHHEENTET, BRAMWGERELSDHR, RDHKRETBINEEE,
e.When the hydraulic pump working under the nominal pressure or the intermittent peak pressure continuously, you must use the
auxiliary unit to cool fluid for ensure that the fluid temperature does not surpass the prescribed limit.

JB/T 7043-2006 hydraulic axial piston pump

o/E 13z DR/ =2 JE =%l DRG

Pressure Control/Remote pressure control DRG
RI2. RUEHBUTHMMENHE, BREEMEERN, EAMBEHRIERMEXRESH, HRAEFATEREN, £RHE
EENMER TR, EHEEEER 2-35MPa,
Principles:In the setting range of pressure ,we use the pressure compensation control to guarantee the pump have the longest
output volume. While maintaining the setting pressure,the maximum output capacity can be set up by the system pressure. When
the system pressure surpass the pressure compensation setting. Or the system no longer need the flow of fluid, The pump over-
flow while maintaining the setting pressure, the setting range 2-35MPa.

7 T T I
K1 K2 TR




& BREE

HENGYUAN HYDRAULIC

oW i £k Th &4z 4 LR2 Power control LR2 with hyperbolic characteristic
—. R WihLhEEd, BERNEERTR, RIFRAEBNEAFTTHIEERE.

Principles: The hyperbolic power control maintains a constant preset drive power at the same input speed.

A1 Optional:

EA1#2#l Pressure control ( LR2D )

#2424 Remotely controlled ( LR2G )

i E$=H Flow control ( LR2F, LR2S)
BIEITIEBRH2E ( LR2H ) Hydraulic stroke limiter
HUMi{TI2PR %528 ( LR2M ) Mechanical stroke limiter
BIEMS$2% ( LR2Z ) Hydraulic two-point control
ATHEERzmMBESEER (LR2Y)

with electric unloading valve for easy start

oI RFFHIZRIEFI M TN EZH LRI
Power control LR3 with remote control of power characteristics

= RE WHEREFIRISFTIZMIENIREE, hEFIEHLTIRRERET,

This power control maintains a constant preset drive power, with remote control of the power characteristics.

A[IEIR Optional:

EF1#2%) Pressure control ( LR3D )

iEf2#24#] Remotely controlled ( LR3G )

#2424 Flow control ( LR3F, LR3S)
HETRMRHISES ( LR3H ) Hydraulic stroke limiter
HIMATIZPR$I28 ( LR3M ) Mechanical stroke limiter
HIEM S$24) ( LR3Z ) Hydraulic two-point control
RATHEERzIMBSETTR (LR3Y)

with electric unloading valve for easy start

o 5SESENBXRMKIEREH LR2N
Hydraulic control LR2N and LR3N pilot pressure dependent, initial position

=, FE: HhEEMES, iR (HE ) 5 P pilot RAESEABLLLE, WNMNMEhEEFRETESENES, FHRE
FRIgMIRShhEEE,

With overriding power control, The pump displacement is proportional to a pilot pressure signal in PSt.The additional hyperbolic
power control overrides the pilot pressure signal and holds the preset drive power constant. o T De

A[1£1R Optional :

[EA#E% ( LR2DN ) Pressure control

in#2#2%l ( LR2GN ) Remotely controlled
ThE4$4 ATIE 2837 Remote control of power characteristics
(LR3N,LR3DN,LR3GN)




HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

o FEzh=4] MA Manual control MA
FIE. B FRTHERNEREY

Principles:Stepless adjustment of displacement by means of handwheel.

>

oifk[E#=#l HD Hydraulic control HD

FE: RIEXRESN, #ITRENTRET, REELTESESIEN.

Principles:Stepless control of displacement dependent on pilot pressure single. The Displacement is proportional to the pilot

pressure.

Vg
ngax
- -
pS:

A EIE Technical parameter
& Size 40 71 125 180 250 355 500
k- Fanog 4
Control cylinder’ s moving distance mm 14.2 14.2 20.7 20.7 25.9 25.9 326
gﬂtﬁ;ﬁcﬁ nder area cm? 3.9 3.9 9 9 14.4 14.4 18.8
R s om? 55 55 18.7 187 | 373 373 | 614
BIRESIEN
Min.control pressure Mpa 8 3 5 5 5 5 5
ZHIRdE (20MPa £ ) 1 1 e ¥ 2 o ;
Control time(20MPa pressure) . 0 g 0 g 9 g 08




vz EREE

o [EifiE#= % EO Hydraulic displacement control EO
RE: BETERESARRGHEGIRE, HTHERMITRIET

Principles:The stepless displacement control is accomplished with a proportional valve with electrical feedback of swivel angle.

Bl B MB
gmax H | 'I ]
v i —
[, o
U o P -t
Umax
T
K1K2 TR p
R AEHE Technical parameter
#MH& Size 40 71 125 180 250 as5 500
LA
Control cylinder' s moving distance mm 14.2 17.3 20.7 20.7 25.9 25.9 32.8
%ﬂtﬁﬁcﬁnde, area om? 8.1 12,6 18.1 16.1 28.3 28.3 38.2
%ﬂ&ﬁmume cm? 11.4 215 37.5 37.5 73.2 73.2 124.5
mﬁgﬂrﬁgessm MPa 10 10 10 125 125 125 15
ﬁfﬁﬁ{%f"mssu o MPa | 315 315 315 315 315 315 315
j=HIrtE ( 20MPa EH )
Control SmeZ0MPa trEEsNG) s 0.1 0.12 0.2 0.2 0.25 0.25 0.3

EPE Horizontal installation

o ERZIEEL MR The hydraulic pump installed within a tank

HimERERES TR &S, kO S O/, MTERR:

If the minimum fluid level is level above the top of pump, case drain and part S are open,as diagram SO-11

R/L
j/
C K14
(KoI™_
T S
$0-11

Diagram SO-11




HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

AN REREE TR LS, tmOME S OMAEEER, MTEFRT:

If the minimum fluid level falls bellow the top of pump, case drain and part S must be
piped,as diagram SO-12

hmax = 300

hinin=200

o B ERLZIELEMMIM The hydraulic pump installed outside a tank

ERZEEMBATE, MitthOEH S ORAEEEE, WTEFRR:
If the pump installed below the tank, drain pipe and part S must be piped as diagram SO-13

ARRFEEME LT, Witk OEM S ORAEEEE, $RESO-12 LL.L,—f—

If the pump installed above the tank, drain pipe and part S must be piped as diagram SO-12

FEHRFE Vertical installation
oL ERREMAMAEN

5S0-12
Diagram SO-12

L7 A

‘{ =z

S

& SO-13

Diagram SO-13

L

@ Fluid

HRMBERES TROMEEZMAT, MmO TS A, RL OFEHF, MEFR:

If the minimum fluid level is level with orabove the pump mounting flange,case drain Ports
T,S and Port R/L are open ,as diagram SO-14

HEMEREREETFROGEZE=0, #mOT, SOME RLOFREEERE, MEFRR:

If the minimum fluid level falls below the pump mounting flange,case drain Ports T,S and Port
R/L must be piped ,as diagram SO-15

R/L

Lo P

50-14
Diagram SO-14

£ & Filling point

hmu.x =3001 = =!J 4- ‘
Pimin=200! i J
L
SO-15

Diagram SO-15



& BREE

HENGYUAN HYDRAULIC

oHA4VSO-40 FRIMEEEER T [ E/R: DR EZEHH ]
Dimensions, Size HA4VSO-40(Diagram:DR Variable)

18
it keyed shaft
AS 10x8x56
DIN 6885

15 _ \56 _

140

1
S -——
10, |
Y
’ NG 4 1 R 4 56 5 1 2 2 o
* The pilot value installation position when clockwise
Splines shaft
fE By
W 32x2x30x14x9g (BA250) @ i)
DIN 5480 type 25 second high pressure oil
|
i L 3 I X
o o
° ) 3
= o P o] o
EE. @ o 2 e O SAE 112"
= T g 1 U HISIES]|
1 1 SAE 1 1/2" size of standard sprssure
@ \ =) CRe)
1 \_., M12; & 20
' i 1 351 M12; deep 20
30 m
ol TN -y \
Y SR 5 i B G e R ) e 4 i
The pilot value installation position when anti-clockwise
view Y
e Y
i B EAmO ®©20.5
[eJEe] pressure port
o Wy B, WEEDHO  M22X1.5, iFl6
2 & @ auxiliary pressure port M22x1.5,deepl6
0 0 M TYEMOA25EE , BLOHYAMATR o
o when the working port is type 25;B1port corresponding viewed on Y direction
/ 38 SAE 3/4" $51EF 5 S gz ©40
M10; # 17 == SAE 3/4" size of high pressure suction port
LT T stmO M22X1.5, 16
case drain port M22X1.5,deepl6
R(L) EHO+ES0 M22X1.5
fluid fill and air port
M,, M, ESR M14X1.5, iF12
test port MI14X1.5,deepl2
KK, bs: | M22X1.5, iF14
flushing port M22X1.5.deepl4
U HWAFGPEBO  M14XL5, 5§12 (1)

rearing flushibg port M14X1.5,deepl2(plugged)



HA4VSO RIMMHEEER

Variable displacement Pump HA4VSO

oHA4VSO-71 RIMEBKER T [ El7R: DR ZEENAT ]
Dimensions, Size HA4VSO-71(Diagram:DR Variable)

fil keyed shaft
AS 12x8x68
DIN 6885

1.5

157

Splines shaft
JE 4
W 40x2x30x18x9g
DIN 5480

o
=

128

21 40ha

92

—

SAE 1" Bl &5
M12, #20 SAE 1" size of high pressure

M12; deep 20

MGLEF A i) B A T S 5 6 4 3 i

The pilot value installation position when clockwise
By M 25 iy s 1)
type 25 second high pressure oil
1 view x
— ke X
S
o
o\ i o' 0
B I
= 8 S SAE 2" bRilEIE N
| 75
1 o | o SAE 2" series of standards pressure
M12; # 20
429 M12; deep 20

I Ay I 5 e e e o2 2 i R
The pilot value installation position when anti-clockwise

B FEhimO 25
pressure port
B, HEhHO M27X2 , i®16
auxiliary pressure port M22X2 deepl6
i 2 , Bl Y| T
M%C:TI'I.: J;EEJEEE pc?riﬂlsﬂgrpc 25, ]p%gn Eﬂ%ﬁnﬁng viewed on Y direction
S 3z m| ®50
suction port
N M i b
T e MEedmee
R(L) EROHESA M27X2
fluid fill and air port
M, M, RIER M14X1.5, F12
test port MI14X1.5,deepl2
KK, 3em0 M27X2 , i®16
flushing port M22X2,deepl6
u WAERO  M14X1.5, F12 (i)

rearing flushibg port M14X1.5,deepl2(plugged)



& BREE

HENGYUAN HYDRAULIC

o HA4VSO-125 RAMEEER T [ E7R: DR ZEHLH ]
Dimensions, Size HA4VSO-125(Diagram:DR Variable)

iit keyed shaft
AS 14x9x80
DIN 6885

15__\ 80

191

© 36 o
& : o
D i
. b
sl T/l | Ms + Ms
100
8 _| L. 125 a X
= 310 .
Y WA £ 7 1 B A B4
Splines shaft * / The pilot value installation position when clockwise
S /B (st 25 ks )
DIN 5480 - ! type 25 second high pressure oil
| N | 2 1 view X
i ' #ilE X
| @ <
o\ RS M. = g /010
33 = / S o SAE 2 1/2"
87 . . —1E 88 S ke Ik 751
s| T “—1 - 2 ! SAE 2 1/2" series of standards pressure
o B 1
= -36. | - - @ O/ w2, w1
1 | | R(LI= O, = - 508 M12; deep 17
| ' M 4
SN 4
54| U
™ il
L 203 i34 Y% B A5 10 E I 5 1ol e

B
Bl

SAE 1 14" @Ik #5
SAE 1 1/4" series of high pressure S

T
R(L)

M14, i 19
M14; deep 20

EAHO

pressure port

H8BhE im0

The pilot value installation position when anti-clockwise

31
M33X2 , i§18

auxiliary pressure port M33X2,deepl8

[5g::]m]

suction port
pusi::m}

case drain port
EHO+-ESO

fluid fill and air port

M., M, RIER

K1,K2
u

test port
| M)
flushing port
SHFGREHO

HT{EMOR258E |, BLOAYEIMRATR

when the working port is type 25;Blport corresponding viewed on Y direction

63

M33X2, #18
M33X2,deepl8§

M33X2

M14X1.5, iF12
M14X1.5,deepl2

M33X2, iF18
M33X2,deepl8
M14X1.5, iF12 ( %)

rearing flushibg port M14X1.5,deep12(plugged)



191

-

HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

oHA4VSO-180 FRIMEEXER T [ E7Z~: DR ZTEHHM |
Dimensions, Size HA4VSO-180(Diagram:DR Variable)

- (354) -
o A
iit keyed shaft
AS 14x9x80
DIN 6885
15..\ 80 _
i : KZ’
<t s
=
36 ©
S S il
8 T/ w0 *
0] " - 7 Ms | Mg
o8 [ 1 | X
B 318 N
- 379 N
NGRLIRE A7 1) g I S e 1 o i
; The pilot value installation position when clockwise
” i /By (MR 25 ffy kIR
{eiitsih Splines shaft m ! S type 25 second high pressure oil
W 50x2x30x24x9g =1 -/ ¢
DIN 5480 i
X 7
‘ I _/ 28
=3 L =
(=1l | —ars [1=1r
i ] IBH i == 1S SAE 3" kil Ik
| 1 " 2 ! DES]
o |36 = 1 SAE 3° series of standards pressure
- . LR M16; i 24
L] L . M16; deep 24
! -
= 1
. 54 \
[ AT 5 1) B A 5 S R 02 4 o5
The pilot value installation position when anti-clockwise
B EAmO ©31
i o0 pressure port
@ o 4 TEMOR2580 , BIOAYMMART o
Bty when the working port is type 25;BlIport corresponding viewed on Y direction
1 o |0/ SAE114" fE RS B1 Loty M33X2 , F18(H )
SAE 1 1/4" series of high pressure auxiliary pressure port M33X2,deepl8
S 38 OR%; D75
M14; 19 e, S%EPP{;“
M14; deep 19 T sttt O M33X2 , F18(1& )
case drain port M33X2,deepl8

R E@MOHESO M33X2
fluid fill and air port

M, M, ER M14X1.5, F12(1% )
test port M14X1.5,deepl2

K1,K2 jin M33X2, i#18
flushing port M33X2,decpl8

U MFGhSMO  M14X1.5, F12 (%)

rearing flushibg port ~ M14X1.5,deep12(plugged)



Y7 BiRBE

HENGYUAN HYDRAULIC

® HA4VSO-250 RAMEEER T [ E7R: DR ZEH1 ]
Dimensions, Size HA4VSO-250(Diagram:DR Variable)

238

fil keyed shaft
AS 18x11x100
DIN 6885
3_\ 100
S"I 1 T
R IpES =0
| B
= L el
8
10
_ 105
Splines shaft N1 A 1 g e et 1 e A oz 4 o
{E 1l 5 + The pilot value installation position when clockwise
W 60x2x30x28x9g @ Br (4% 25 sk dipani)
DIN 5480 - type 25 second high pressure oil
i
L | view X
= il X
o =| &
§ —_— C_ — g i = O 0
g A == - -
W& B —-—@-—@ — |— 3 | g R O .S;ﬁﬁrhﬂgnzu
\ b 1 3
- 42 1 . L Bl — 1 1 6] e SAE 3" series of standards pressure
= = M16; ¥ 24
R(L C ]-—-— = 619 M1B:de;;24
L] —
1 - b, |T 1
L0 u = m = U1 o B 0 5 R 3
44 + The pilot value installation position when anti-clockwise
L 248 Jd Lz Y
view Y
G
B EA@a 40
pressure port
' B, WEEAHO  M42X2, F18
pd D* auxiliary pressure port M42X2,deepl8
il SAE 11/2" §IE A %&1‘5:5&57325&431’5§|1D7]YF]%$HT e
1 D | O/ saE1 172" series i — g the wo ng];;rll:llsrypc port grr?esspon ing viewed on Y direction
M16, i% 21 365 i port
M16; deep 21 T i M42X2 , F18
P Mo, port M2 decpl 8
R(L) EHO+ESO M42X2
fluid fill and air port
M,, M, TERS M14X1.5, F12
test port M14X1.5,deepl2
K.K, &0 M42X2 , i®18
flushing port M42X2 deeplB
u HFdieimO  M14X1.5, F12 (1)

rearing flushibg port  M14X1.5,deepl2(plugged)




HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

oHA4VSO-355 FRIMEE R T [ B7R: DR ZTENA ]
Dimensions, Size HA4VSO-355(Diagram:DR Variable)

30
il keyed shaft
AS 20x12x100
DIN 6885

238

151

) , Y W 17 i e 5 3 2 4
{E L4 splines shaft P £ B1 The pilot value installation position when clockwise
B e M /R 25 W KSR

type 25 second high pressure oil
i

=
| | - / ) S
' - = f
= i
8 ! - i
< Er g -
i — 2= _Ssae 4
8 U IIER )
1 { t SAE 4" series of standards pressure
=~}
3 ﬂ_ = M16; % 24
] u M16; deep 24
' [ e
136001
82
= = + S E1 5 1 BE M O S IR0 2 fir
|44 | The pilot value installation position when anti-clockwise
L 248 | -1.12 Y
B E@mO 40
view Y pressure port
i 25 Bl YR
R Y %hc}gf\jw%rﬂszun I%)“;‘g 25; Blpu[:ln ngrgot%ﬁ:gazuod on 'Y direction
i B, HEEimO M42X2 , iF18
= I auxiliary pressure port M42X2,deepl8
S s 3 ) ®100
{ SAE 1 112" §1E &5 suction port
© | ©/ saE1 112" series of high pressure T gz || M42X2 , F18
M6, 7 21 365 case drain port M42X2,decpl8
¥ - R(L)  EBO+ESO  M42X2
M0 detp 24 fuid fill and air port
M,, M, ER M14X1.5, F12
test port M14X1.5,deepl2
K. K i M42X2 , iF18
flushing port M42X2,decpl8
u HWFRGEHEO M14X1.5, F12 ()

rearing flushibg port  M14X1.5.deepl2(plugged)



& BREE

HENGYUAN HYDRAULIC

® HA4VSO-500 RIMEELEER T [ El7ZR: DR ZENAH |
Dimensions, Size HA4VSO-500(Diagram:DR Variable

R(L)

it keyed shaft
o AS22x14x125
2 DIN 6885

ML the suspension loop of t!\read
M16 DIN 580 T,
{£ 44l Splines shaft

Br (1% 25 iy sk
W 80x3x30x25x9g 1A 25 i) dc i Eah i)

type 25 second high pressure oil

DIN 5480 o M WK e S R %
\ / The pilot value installation position when clockwise
I \ lﬂ view X
I o9& P X
\ e P
A L) [
S P . =
538 P — 3 8 S SAE 5"
& 1o = fridE N 75
= |42 ol 1 ! o/ SAES" series of standards pressure
1! , = M16; i 23
1 1 %21 M16; deep 23
90 B . '
e - il M * N 7 R 5 R
= e The pilot value installation position when anti-clockwise
% 279 -150] v
view Y B EE:szuEEDn SAE2"
wipe Y i Lilgder =
L T{EHO2580 , BIOAYEMR
i (o}f¢) when the working port is type 25:B1port corresponding viewed on Y direction
= ol . B, HENEHO M48X2 , iF22
@ 7 B auxiliary pressure port M48X2 deep22
! 0.0/  saEz kR s giis|m) SAES"
44.5 SAE 2" series of high pressure suction port
M20; i 24 i T pusi::[m| M48X2 , F22
M20; deep 24 case drain port M48X2.deep22

R(L) EHO+HAS0O M48Xx2
fluid fill and air port

M., M, JER M18X2 , ®12
test port MI18X2,deepl2

KiK,  isEiE0 M48X2 , F22
flushing port M48X2,deep22

u WmEOPEBO M18X1.5, iF12

rearing flushibg port  MI18X1.5,deepl2



HA4VSO RINMmMEELTER
Variable displacement Pump HA4VSO

[ AEZE R HA4VSO AT 52 B SR L@ Hh 3K 3h
The axial piston unit HA4VSO can be equipped with a through drive, as shown in type code

RINFWERS R EEI ERR,

We recommend, that no more than three pumps be coupled together
#15EEB4%: Scope of supplied include are;

R, BEIESEST, B, UREBHBERTRHETEEZ,

Shaft coupler, mounting screws, seals and adapter flange in applicable.

#A 43R Combination pumps

MERINRER, FAHRAFREIEREE,

In dependent circuits are available for the user when further pumps are built on.

1, MAERH 2 & HAAVSO RAM, HEAREET RE, HIAAERNES, A “+" &5,

If the combination consists of 2 pcs HA4VSO pumps,and if this must be factory mounted, the two individual type codes must be
joined by a “+”

iT# %] Ordering example: HA4VSO 125DR/22R-PPB13K33+HA4VSO 71DR/10R-PZB13NOO

2, MBEL REERRIBEEEREHE 2R, BRRLAFRA,

If a gear or a radial piston pump must be factory mounted as the second pump, please consult us.

{ERBERMMEAER (10 125+125 ) HizHI3E HD.P, HD.T #1 HD.U B A& RA, HEIRA R R,

If the combination consists of the same sizes pump (such as 125+125) and control device HD.P, HD.T. HD.U, please consults.

o RAiFiEMMIKENIALE Permissible input and through drive torques

1
Tln!al Ttul.ul
TD1 TDZ TDI TDz
e L% Splined shaft

AR size 40 71 125 180 250 300 355 370 500
i;;ﬁfumpz T ol max Nm 446 790 1392 | 2004 | 2782 | 3338 | 3952 | 4116 | 5566

F’:?:n’ﬁ;ﬁugh T 01 max Nm 223 395 | 696 1002 | 1391 | 1669 | 1976 | 2058 | 2783
1

RZhLE

drive torque T o2max Nm 223 395 | 696 1002 | 1391 | 1669 | 1976 | 2058 | 2783

S ivriEh

perm through T o1 max Nm 223 395 | 696 1002 | 1391 | 1669 | 1976 | 2058 | 2783
2

IRzhHLE

drive torque T 02 max Nm 223 395 | 696 1002 | 1391 | 1669 | 1976 | 2058 | 2783




S BERE

HENGYUAN HYDRAULIC

o Hid%h Keyed shaft

DM size 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
R1+]| 2

sl S T ommac Nm | 446 | 790 | 1392 | 1004 | 2300 | 3006 | 3557 | 3707 | 5200
St iFilish
 |pem trougn T s Nm | 223 | 395 | 696 | 1002 | 1391 | 1670 | 1976 | 2060 | 2783
REhH%E

ditve:forque T o2 Nm 157 | 305 | 696 | 398 | 909 | 1336 | 1851 | 1647 | 2417
SV = N
, |pemm thougn o m 157 | 305 | 696 | 398 | 909 | 1336 | 1851 | 1647 | 2417
WEhAE

drive torque T o2 Nm | 223 | 395 | 696 | 1002 | 1391 | 1670 | 1976 | 2060 | 2783

o SEXRLREZFXMAIFIRMELE
Permissible mass moment of inertia referred to the mounting flange of the main pump.
L
l1
Iz
m, m.[kg]5RER/ Weight of pump
I L[mm]s0BIEORIBERE  Distance center of gravity
Tm=m1-11 - ﬁ+m2 =12 "I-EW[N"‘]
NI size 40 71 125 180 | 250 300 | 355 | 370 500
SRIFREE
~

Seti Faass oHenE o e Nm | 1800 | 2000 | 4200 | 4200 | 9300 | 9300 | 9300 | 9300 | 15600
AR MEE A 10g=98.1m/sec?
R IR R
Pér Mass moment &t dynam T Nm | 180 | 200 | 420 | 420 | 930 | 930 | 930 | 930 | 1560
acceleration of log=98.1m/sec?
Hi (DR) weight W kg | 39 | 53 | 88 | 102 | 184 | 207 | 207 | 207 | 320
LB ORI
distance center of gravity Il mm 120 140 170 180 210 220 220 220 230




HA4VSO R3IhmiEELR/R
Variable displacement Pump HA4VSO

HA4VSO + HA4VSO

A1 A2
Ad
maty p';"ﬁ HA4VSO 40 HA4VSO 71 HA4VSO 125 HA4VSO 180 HA4VSO 250
gzgfm Al | A2 | A3 [ A4 | A1 | A2 |A3 | A4 | A1 | A2 | A3 | A4 | A1 | A2 | A3 | A4 | A1 | A2 | A3 | A4
HA4VSO 40 | 227 | 61 | 227|557 |254 | 62 | 227 | 585 | 310 | 37 |227 [616 | 318 | 53 |227 | 640|380 | 51 | 227|700
HA4VSO 71 | - - | = | - |254| 62 |254 |614 |310 | 63 |254 |671 |318 | 79 |254 | 695|380 | 51 | 254 | 729
HA4VSO 125 | - - | -f=-1-=1-1|-1- |310|69 |310|734 |318 | 85 |310| 758|380 | 89 | 310|824
HA4VSO 180 | - | =|=]|=]=]=]=|=|=]=]|= |318|85 |si8|782|380 |89 |2318|848
HA4VSO 250 | - -|-f{-1-1-/-/-1=-1-1-1-1~-1-1-1]-|380]| 89 | 380|908
maln P'gpﬁ HA4VSO 300 HA4VSO 355 HA4VSO 370 HA4VSO 500
P
® gfump Al | A2 | A3 | A4 | A1 | A2 | A3 | A4 | A1 | A2 | A3 | A4 | A1 | A2 | A3 | A4

HA4VSO 40 393 | 67 | 227 | 729 | 393 | 67 | 227 | 729 | 393 | 67 | 227 | 729 | 441 | 64 | 227 | V74

HA4VSO 71 393 | 67 | 254 | 758 | 393 | 67 | 254 | 758 | 393 67 | 254 | 758 | 441 64 254 | 803

HA4VSO 125 | 393 | 105 | 310 | 853 | 393 | 105 | 310 | 853 | 393 | 105 | 310 | 853 | 441 | 64 | 310 | 860

HA4VYSO 180 | 393 | 105 | 318 | 877 | 393 | 105 | 318 | 877 | 393 | 105 | 318 | 877 | 441 64 318 | 884

HA4VSO 250 | 393 | 105 | 380 | 937 | 393 | 105 | 380 | 937 | 393 | 105 | 380 | 937 | 441 | 100 | 380 | 980

HA4VSO 355 393 | 105 | 393 | 966 | 393 | 105 | 393 | 966 | 393 | 105 | 393 | 966 | 441 | 100 | 393 | 1009

HA4VSDB500 | = | = [ = | = | = [ = [ = | = =] = | = | = |49 |19 | 441 | 1110




& BB

HENGYUAN HYDRAULIC

-

HA4VSO +HA10VSO

— e
\J
O O,
I :
A1 UAZ ). A3
- Al -
méln Wimpﬁ HA4VSO 40 HA4VSO 71 HA4VSO 125 HA4VSO 180 HA4VSO 250
$2§ump Al | A2 | A3 A4 | A1 | A2 | AB| A4 | A1 | A2 | A3 | A4 | A1 | A2 | A3 | A4 [ A1 | A2 | A3 | A4
HA4VSO 18 | 227 | 36 | 145 (458 | 254| 37 | 145|486 | 254 | 37 | 145|542 | 318 | 53 | 145 | 566 | 380 | 51 | 145 | 626
HA4VSO 28 | 227 | 63 | 164 |496 | 254 | 37 | 164 | 497 | 254 | 37 | 164 | 553 | 318 | 53 | 164 | 577 | 380 | 51 | 164 | 637
HA4VSO 45 | 227 | 63 | 184 [514 | 254| 57 | 184|535 | 254 | 57 | 184 | 591 (318 | 73 |184 | 615|380 | 51 | 184 | 655
HA4VSO71 | — | - | - | - | 254| 67 | 218|578 | 254 | 68 | 217 | 635|318 | 84 | 217 | 659|380 | 69 |217 | 706
HA4v80100| - | - | - [ - [ = | = | = | = | - |74.5|275(710.5/ 318 |90.5 | 275 |734.5 380 | 77 |275 | 783
HA4vSO140 | - | - | - | = | = | = | = | = | =] =] -] - |318]| » |275| = |380| 89 |275 | 806
— P‘;‘;ﬁ HA4VSO 300 HA4VSO 355 HA4VSO 370 HA4VSO 500
B2E
2.pump Al | A2 | A3 | A4 | A1 | A2 | A3 | A4 | Al | A2 | A3 | A4 | A1 | A2 | A3 | A4
HA4VSO 18 | 393 | 67 | 145 | 655 | 393 | 67 | 145 | 655 | 393 | 67 | 145 | 655 | 441 | 64 | 145 | 700
HA4VSO28 | 393 | 67 | 164 | 666 | 393 | 67 | 164 | 666 | 393 | 67 | 164 | 666 | 441 | 64 | 164 | 711
HA4VSO45 | 393 | 67 | 184 | 684 | 393 | 67 | 184 | 684 | 393 | 67 | 184 | 684 | 441 | 64 | 184 | 729
HA4VSO 71 393 | 85 [217 | 735 | 303 | 85 | 217 | 735 | 393 | 85 |217 | 735 | 441 | 64 | 217 | 762
HA4VSO100 | 393 | 93 | 275 | 812 | 393 | 93 | 275 | 812 | 393 | 93 |275 | 812 | 441 | 90 | 275 | 857
HA4VSO140 | 393 | 105 | 275 | 835 | 393 | 105 | 275 | 835 | 393 | 105 | 275 | 835 | 441 | B89 | 275 | 867
* RER

* as required



HA4VSO R3IhmiEELR/R
Variable displacement Pump HA4VSO

ISO 125.4 7;

A T3 HAAVSO/M/G 40 ( 1£84 )
iT#E S K33 SO 125.4-bolt;

For mounting an HA4VSO/H/G 40 splined
shaft Ordering code K33

A6

FRMM size| A A | A | A, A, A, | #E#@%hEE DIN5480 splined shaft coupler
40 189 | 99 | - | 58 | M12X24 - | N25X1.25X30X18X8H/N32X2X30X14X8H
71 216 | 100 | - 55 | M12X24 - N30X1.25X30X22X8H/N32X2X30X14X8H
125 265 | 82 8 37 | m12X18 150 | N35X1.25X30X26X8H/N32X2X30X14X8H
180 265 | 106 | — | 37 | M12X18 | 160 |N35X1.25X30X26X8H/N32X2X30X14X8H
250 327 | 104 | 2 48 | M12X18 | 200 |N42X1.25X30X32X8H/N32X2X30X14X8H
300 327 [ 133 | - | 48 | M12X18 | 220 | N42X1.25X30X32X8H/N32X2X30X14X8H
355 327 | 133 | - 48 | M12X18 | 220 |MN42X1.25X30X32X8H/N32X2X30X14X8H
370 327 | 133 | - 48 | M12X18 | 220 |N42X1.25X30X32X8H/N32X2X30X14X8H
500 365 | 140 | 14 | 60 | M12X18 | 240 |N55X1.25X30X42X8H/N32X2X30X14X8H

ISO 140.4 FL; BT =% HA4VSO/M/G 71 ( 1E5Eh )
iT#82 K33 SO 140.4-bolt;

For mounting an HA4VSO/H/G 71 splined shaft g

Ordering code K33

ERMEsize| A, | A, | A | A, A, A, | %I DINS480 splined shaft coupler
71 216 | 100 | - | 44 | M12X24 | - | N3DX1.25X30X22XBH/N4OX2X30X18XEH
125 265 | 108 | - | 45 | M12X24 | - | N35X1.25X30X26X8H/NA0X2X30X18X8H
180 265 | 132 | - | 45 | M12X18 | - | N35X1.25X30X26X8H/N40X2X30X18X8H
250 327 | 104 | 2 | 48 | M12X18 | 200 |N42X1.25X30X32X8H/N40X2X30X18X8H
300 327 | 133 | - | 48 | M12X18 | 220 |N42X1.25X30X32XBH/N40X2X30X18X8H
355 327 | 133 | - | 48 | M12X18 | 220 |N42X1.25X30X32X8H/N40X2X30X18X8H
a70 327 | 133 | - | 48 | M12X18 | 220 |N42X1.25X30X32XBH/N40X2X30X1BX8H
500 365 | 140 | 15 | 60 | M12X18 | 240 [N55X1.25X30X42X8H/NA0X2X30X18X8H

Y
N32X2X30X14XBH
N 5480
%
33
¢
LY
10
Al A2 _| A3
KRR GER
to mounting face
a4 12
N40X2X30X18X8H
DIN 5480
7
1
s
)
10
Al A2_| A3
HARHRZHEN

to mounting face



N

HENGYUAN HYDRAULIC

ISO 160.4 ¥L; BT =R3 HA4VSO/H/G 125 =5 180 ( 1E5k% )

iT#8E K34ISO 160.4-bolt;

For mounting an HA4VSO/H/G 125 or 180 splined shaft Ordering

A3

d

NS0X2X30X24X8H
DIN 5480

+0.07

@160+0.02

10

A2

code K34
/ﬁﬂ_
Al
HR TR HER
to mounting face
ERHME size| A, A, A, A, FE4Bh3E DINS480 splined shaft coupler
125 265 114 58 M16X31 N35X1.25X30X26XBH/NSOX2X30X24X8H
180 265 138 53 M16X32 N35X1.25X30X26X8H/MN50X2X30X24X8H
250 327 142 60 M16X32 N42X1.25X30X32X8H/N50X2X30X24X8H
300 327 171 60 M16X32 N42X1.25X30X32XBH/N50X2X30X24 X8H
355 327 171 60 M16X32 N42X1.25X30X32XBH/NS0X2X30X24X8H
370 327 171 60 M16X32 N42X1.25X30X32XBH/NS0X2X30X24X8H
500 365 140 60 M16X24 N55X1.25X30X42X8H/NS0X2X30X24X8H

ISO 224.4 Fl.; FAF %3 HA4VSO/H/G 250 ( TE§tH )

1TER 8-S K351S0 224.4-bolt;
For mounting an HA4VSO/H/G 250 splined shaft
Ordering code K35

A3

N\

—T

12

NE60X2X30X28X8H

/ DIN 5480

. .11

Al

I

3224t

HEER L HER

to mounting face

FE 5 ¥3E DIN5480 splined shaft coupler

N42X1.25X30X32X8H/NB0X2X30X28X8H

N42X1.25X30X32X8H/NB0X2X30X28X8H

N42X1.25X30X32X8H/NB0X2X30X28X8H

N42X1.25X30X32X8H/NB0X2X30X28X8H

E|AUE size| A, A, Ay A,
250 327 142 75 M20X37
300 327 171 75 M20X36
355 327 | 171 75 M20X36
370 327 | 171 75 M20X36
500 365 140 74 M20X36

N55X1.25X30X42XB8H/NB0X2X30X28X8H




HA4VSO RINMHEELTER
Variable displacement Pump HA4VSO

ISO 224.4 7L; AF=3E HAAVSO/G 355 ( TE&kh )
iTH# 812 K77 IS0 224.4-bolt;

For mounting an HA4VSO/G 355 splined shaft Ordering A3 10,4
code K77 T N70X3X30X22X8H
oM
=0
b=
<
od
J
s
Al Al
HRERHZHEN
to mounting face
R size| A, A, A, A, £ 4hEE DINS480 splined shaft coupler
355 327 | 17 82 M20X24 N42X1.25X30X32X8H/N70X3X30X22X8H
370 327 | 1M 82 M20X24 N42X1.25X30X32X8H/N70X3X30X22X8H
500 365 176 76 M20X24 N42X1.25X30X32X8H/N70X3X30X22X8H
ISO 315.8 7L; AT &% HA4VSO/G 500 ( 1E52% )
iTH£ 8IS K43 1SO 315.8-bolt;
For mounting an HA4VSO/G 500 splined shaft
Ordering code K43 A3
D)
NBOX3X30X25X8H
/ DIN 5480
T /
| =4
/ b= b=
+ +
n
o
B
!
19
Al A2
HEZRRELRER
to mounting face
ERME size| A, A, A, A, £ 4§ 4% DIN5480 splined shaft coupler
500 365 | 225 91 M20X26 N55X1.25X30X42X8H/N80X3X30X25X8H




N

ISO 80.2 7L; T3 HA10VSO 18 ( EEH S)
iT# 82 KB2 ISO 80.2-bolt;

HENGYUAN HYDRAULIC

For mounting an HA10VSO 18 splined shaft S Ordering code KB2

Al

A4

A6  splined flange 19-4(SAE A-B)
in19-4 SAE A-B)

3/4*,16/32DP;11T

8
-~

@80 +0.02

11
A2_| A3

HAEREZRER

to mounting face

ERAME size| A, A, A, A, A, A, |{E@%hIE DINS4B0/SAE splined shaft coupler
125 265 | 82 | 11.5 | 19.1 | M20X24 | 21.4 | N35X1.25X30X26X8H/3/4" ,16/32DP:11T
180 265 | 106 | 11.5 | 19.1 | M20X24 | 21.4 | N35X1.25X30X26X8H/3/4" ,16/32DP:11T
250 327 | 104 | 11.5 | 19.1 | M20X24 | 21.4 | N42X1.25X30X32XBH/3/4" ,16/32DP:11T

ISO 100.2 7.; TR HA10VSO 28 (£ S)
iT#%81S KB3 I1SO 100.2-bolt; For mounting an HA10VSO 28 splined

i A4 )
shaft S Ordering code KB3 A6 splined flange 22-4(SAE A-B)
im22-4 SAE A-B)
il 7/8%,16/32DP;13T
1]
-y
¥ gy
Y| <%
[=]
=
)
10
AL a2_| A3
SRR LR
to mounting face
ERMME size| A, A LA A, A, A, |7Eg%H7E DINS480/SAE splined shaft coupler
40 189 101 37 | M12X26 | 20.3 | N25X1.25X30X18X8H/7/8" ,16/32DP:13T
ral 216 102 34 M12X26 | 20.3 | N30X1.25X30X22X8H/7/8" ,16/32DP:13T
125 265 84 26 | M12X22 | 20.3 | N35X1.25X30X26X8H/7/8" ,16/32DP:13T
180 265 | 108 26 | M12X22 | 20.3 | N35X1.25X30X26X8H/7/8" ,16/32DP:13T
250 327 106 27 | M12X20 | 20.3 | N42X1.25X30X32X8H/7/8" ,16/32DP:13T
300 327 135 27 M12X20 | 20.3 | N42X1.25X30X32X8H/7/8" ,16/32DP:13T
355 327 135 27 | M12X20 | 20.3 | N42X1.25X30X32X8H/7/8" ,16/32DP:13T
370 327 135 39 | M12X20 | 20.3 | N42X1.25X30X32X8H/7/8" ,16/32DP:13T




HA4VSO R3IhmiEELR/R
Variable displacement Pump HA4VSO

ISO 100.2 7L; AT %% HA10VSO 45 (&M S)
{782 KB4 1SO 100.2-bolt;

For mounting an HA10VSO 45 splined shaft S Ordering code KB4 Ad
4 S ~—=1 A/ Splined flage 25-4(SAE B-B)
IR 25-4 SAE B-B)
AS —H\ 17,16/32DP;15T
1
k4
<<
R s
0
Al A2 | A3
HRERRLHEN
to mounting face
EFMME size| A, A LA A, A, A, |#Eg%HHIEE DINS480/SAE splined shaft coupler
125 25 | 82 | 8 36 | M12X22 | 150 | N35X1.25X30X26X8H/1" ,16/32DP:15T
180 265 | 106 | - 36 | M12X22 | 160 | N35X1.25X30X26X8H/1" ,16/32DP:15T
250 327 | 104 | 3 | 27.5 | M12X18 | 200 | N42X1.25X30X32X8H/1” ,16/32DP:15T
300 327 | 104 | 3 | 27.5 | M12X18 | 200 | N42X1.25X30X32X8H/1” 16/32DP:15T
ISO 125.2 L; AT %% HA10VSO 71 ( E@#H S)
1T 8IS KB5 I1SO 125.2-bolt;
For mounting an HA10VSO 71 splined shaft S Ordering code KB5
A3
950 AD Splined flage 32-4(SAE C)
#32-4 SAE O
A4 1\ 11/4%,12/24DP;14T
J —
~
29
T
'p]
o
B
10
Al AL
LESe ]
to mounting face
EFRIMNE size| A, A LA A, A, |fEgHIE DINS4B80/SAE splined shaft coupler
125 265 | 113 | 38.1 M16X24 23.7 | N35X1.25X30X26X8H/1 1/4" ,12/24DP:14T
180 265 | 137 | 38.1 M16X24 23.7 | N35X1.25X30X26X8H/1 1/4" ,12/24DP:14T
250 327 | 141 | 42 M16X24 23.7 | N42X1.25X30X32X8H/1 1/4" ,12/24DP:14T
300 327 | 170 | 42 M16X24 23.7 | N35X1.25X30X26X8H/1 1/4™ ,12/24DP:14T




& BREE

HENGYUAN HYDRAULIC

ISO 125.2 7.; F-F%&% HA10VSO 100 ( 85 S )
iT#58)S KB6 I1SO 125.2-bolt;
For mounting an HA10VSO 100 splined shaft S Ordering code KB6

A
3 AS  Splined flage 38-4(SAE C-C)
## 38-4 SAEC-C)
I\ 11/27,12/24DP;17T
Iy
c8
¥3
g}
£
B
10
Al AP
FREL KEN
to mounting face
R size| A, A | A A, A, |fE8%ZE DINS4B0/SAE splined shaft coupler
125 265 | 114 | 58 M16X26 23.7 | N35X1.25X30X26X8H/1 1/2" ,12/24DP:17T]|
180 265 | 138 | 58 M16X26 23.7 | N35X1.25X30X26X8H/1 1/2" ,12/24DP:17T|
250 327 | 142 | 62 M16X26 23.7 | N42X1.25X30X32X8H/1 1/2" ,12/24DP:17T]|
300 327 | 171 | 62 M16X26 23.7 | N42X1.25X30X32X8H/1 1/2" ,12/24DP:17T]|
ISO 180.4 7L; FAF &% HA10VSO 140 ( £&H# S )
T8-S KB7 1SO 180.4-bolt;
For mounting an HA10VSO 140 splined shaft S Ordering code KB7
A3
5 Splined flage 44-4(SAE D)
i i 44-4 GAE D)
1 3/4*,8/16DP;13T
S
'S
&~
1Y
10
Al A2

HAFHL2 WER

to mounting face

EREsize| A, | A | A A, A, |1E4t%53E DINS4B0/SAE splined shaft coupler
250 327 | 142 | 82 M16X32 10.8 | N42X1,25X30X32X8H/1 3/4” ,8/16DP:13T
300 327 | 171 | 82 M16X32 10.8 | N42X1.25X30X32X8H/1 1/2" ,12/24DP:13T|

355 327 | 1M 82 M16X32 10.8 | N42X1.25X30X32X8H/1 1/2" ,12/24DP:13T|




HA4VSO R3IhmiEELR/R
Variable displacement Pump HA4VSO

7%= SAE101-2 (SAE B2 7l ) AFREIMNEEERTR G3
iT5:8S K02
Flange SAE101-2(SAE B,2-bolt)For mounting an external gear
Pump G3 Ordering code K52

A6

10,3 Splined flage 7/8 *
in 7/8

16/32DP;13T

B FTTIT

10
Al A2 _| A3

ERMMEsize| A | A, | A, | A, A, A, | 7ES%hEE DINS480 splined shaft coupler
40 189 | 101 | - 64 | M12X26 o N25X1.25X30X18X8H/7/8" 16/32 DP:13T
71 216 | 106 | - 64 | M12X30 - N30X1.256X30X22X8H/7/8" 16/32 DP:13T
125 265 | 82 | 8 39 | M12X15 | 150 |N35X1.25X30X26X8H/7/8" 16/32 DP:13T
180 265 | 106 | - | 39 | M12X15 | 160 |N35X1.25X30X26X8H/7/8" 16/32 DP:13T
250 327 | 104 | 3 | 50 | M12X18 | 200 |N42X1.25X30X32X8H/7/8" 16/32 DP:13T
300 327 [ 133 | - 50 | M12X18 | 220 |N42X1.25X30X32X8H/7/8" 16/32 DP:13T
355 327 | 133 | - | 50 | M12X18 | 220 |N42X1.25X30X32X8H/7/8" 16/32 DP:13T
370 327 | 133 | - 50 | M12X18 | 220 |N42X1.25X30X32X8H/7/8" 16/32 DP:13T
500 365 | 140 | - 62 | M12X18 | 240 |N55X1.25X30X42X8H/7/8" 16/32 DP:13T

HEERHEZGEN

to mounting face

7EiEZ SAE101-2 ( SAE B,2 7L ) AT &3 HA10VSO 45 ¥ S S i5% 3R 1PF2GC4-1X/0XXXR0O7MU2
115 &S K01
Flange SAE101-2(SAE B,2-bolt)For mounting an HA10VSO 45 splined shaft S or gear pump 1PF2GC4-1X/0XXXR07MU2
Ordering code K01

2146 02

AS Splined flage 1”
218 in 1
16/32DP;
2 15T

+
D ol
’ 33
Vi "o
N b=
\AS s

A4
A2
HAERHZHER

EJAME size| A, A, A, A, FES4HHFE DIN5480 splined shaft coupler
125 347 9 484 | Mi12X15 N35X1.25X30X26X8H/1" ,16/32DP:15T
180 371 9 484 | Mi12X18 N35X1.25X30X26X8H/1" ,16/32DP:15T
250 431 | 104 61 M12X18 N42X1.25X30X32X8H/1" ,16/32DP:15T
300 460 | 104 | 524 | M12X18 N42X1.25X30X32X8H/1" ,16/32DP:15T
355 460 | 104 | 524 | Mi2X18 N42X1.25X30X32X8H/1" ,16/32DP:15T

to mounting face



S BERE

HENGYUAN HYDRAULIC

7% SAE101-2 (SAEB,2 7L ) A TREAMSERR 1PF2GC5-1X/0XXXR07MU2

iTH B S K06

Flange SAE101-2(SAE B,2-bolt)For mounting an internal gear pump1PF2GC5- :E;HEAA-_E
1X/0XXXRO7MU2 Splined flage 1 1/4"
. A m11/4°
Ordering code KO1 16/32DP;147
2 VAT
, "o
~ -
N AS e E
+
146 g Tt
HEEREZHER
to mounting face
EFME size| A, A, A, A, FEgiHhE DINS480 splined shaft coupler
71 321 | 105 | 595 | Mi2X18 N30X1.25X30X22X8H/1 1/4" 12/24DP:14T
125 378 9 57 M12X18 N35X1.25X30X26X8H/ 1/4" ,12/24DP:14T
180 402 | 104 57 M12Xx18 N35X1.25X30X26X8H/1 1/4" ,12/24DP:14T
250 436 | 104 57 M12X18 N42X1.25X30X32X8H/1 1/4" ,12/24DP:14T
72 SAE127-2 (SAE C,2 7. ) AT %% HA10VSO100 % S s M & TR
1PF2GCB-1X/XXXXR0O7MU2
ITHRE S K24 #E A-B
Flange SAE127-2(SAE C,2-bolt)For mounting an HA10VSO100 splined profile A-B
shaft S or internal gear pump 1PF2GC6-1X/XXXXR07MU2 A4
Ordering code K24 A3

[}
t
ERMME size| A, A, A, A, e84 DINS480 splined shaft coupler
125 347 9 74 M16X24 N35X1.25X30X26X8H/1 1/2" ,12/24DP:A7T
180 371 9 72 M16X24 N35X1.25X30X26X8H/1 1/2" ,12/24DP:17T
250 451 105 76 M16X20 N42X1.25X30X32X8H/ 1/2" ,12/24DP:A7T

Al

to mounting iace

mi1/20
12/24DP)17T

13

SN e




063 AHIE, 47L; ATFREZEOGOHER R4

HA4VSO R5lmHEELTRER
Variable displacement Pump HA4VSO

_88-3 +0.2

29 H7

to mounting face

ITHRES K57
Dia.metric 63,4-bolt For mounting an radial piston pump R4
Ordering code K57
g8Js8
o
o [
@ {
\
s
ERME size| A, A {E§iHHFE DIN5480 splined shaft coupler
40 189 | 100 61 N25X1.25X30X18X8H/PO14
71 216 | 103 56 N30X1.25X30X22X8H/PO14
125 265 | 110 62 N35X1.25X30X26X8H/PD14
180 265 | 134 62 N35X1.25X30X26X8H/PD14
250 327 | 132 78 N42X1.25X30X30X8H/PO14

%2 SAE101-2 (SAEB27L) AF
RESMESERTR G4 F HA10VSO

28 i S

iTH RS K68
Flange SAE101-2(SAE B,2-bolt)For
mounting an external gear Pump G4
or an HA10VSO 28 splined shaft S

AS

-~

Ordering code K68 N
S
EFRMMEsize| A | A | A | A, A, FEgHEE DINS480 splined shaft coupler
40 290 | 10.3 | 10 47 | M12X26 N25X1.25X30X18X8H/7/8" 16/32 DP:13T
7 322 | 103 | 10 62 | M12X26 N30X1.25X30X22X8H/7/8" 16/32 DP:13T
125 355 | 10 8 59 | M12X15 N35X1.25X30X26X8H/7/8" 16/32 DP:13T
180 371 [103 | 10 | 59 | M12X18 N35X1.25X30X26X8H/7/8" 16/32 DP:13T
250 431 11 10 47 | M12X26 N42X1.25X30X32X8H/7/8" 16/32 DP:13T
300 462 | 10.3 | 10 47 | M12X26 N42X1.25X30X32X8H/7/8" 16/32 DP:13T
355 462 | 10.3 | 10 47 | M12X26 N42X1.25X30X32X8H/7/8" 16/32 DP:13T
500 505 | 10.3 | 10 78 | M12X26 N55X1.25X30X42X8H/7/8" 16/32 DP:13T

g

#ii A-B
profile A-B

to mounting face

A3
11
10
N[ M8
* _
174 &
- €
*
8
Al A2
HRTRRZ RER

3#F HA4VSO 40 #1 71 LR.D LR.S LR.G, Rt R —4& RI-3 HER,
For HA4VSO 40 and 71 LR.D LR.S LR.G mounting 1 PC R4-3 piston pump only




& BREE

HENGYUAN HYDRAULIC

WiERIREhG, THENTREE, USEREE

ITEEIS K99

KRG 40-370

With through drive shaft ,without shaft coupler, without adapter flange ,

closed with pressure tight over Ordering code K99

Size 40-370 oo M
M AL7
A7 | AT ale Al0
= 7 2 1,% 2 4XAS
/ v @ _\ ﬂ% =
e N
Glle | o C N 132
ol N <|<| <| <
< N
VA
at size 71 Qi
A8 EENETAE/ 1 a
. the shape of splined shaft (A | A3
N DIN 5480, 1% AS
Al HESREZHEN
to mountion face
ERHNE size|  FEEHHMTE DINS480 splined profilo RN size|  FEERSEMTE DINS480 splined profilo
40 W25X1.25X30X18X8g 40 99X3.78 SHA
71 W30X1.25X30X22X9g 71 PRP 245 7509
125 W35X1.25X30X26X9g 125 119X3.18 SHA
180 W35X1.25X30X26X9g 180 118X3.18 SHA
250 W42X1.25X30X32X9g 250 162X3.18 SHA
300 W42X1.25X30X32X9g 300 162X3.18 SHA
355 W42X1.25X30X32X8g 355 162X3.18 SHA
370 W42X1.25X30X32X8g 370 162X3.18 SHA
EFRMME size| A, A, A, A, A, A, A, A, A | A A, A, A, A, A A, A,
40 263 10 7.5 | 53.1:1| M12X25 | 37:02 | 37202 0 18 23:00| 0118 | M 0599 ©97.6_,, | ®52 44 14
71 291 10 7.5 48:1 | M12X25 | 42.3 |37=:015/15.4=:016 18 9 2.7+01| ©130 ¢‘10ﬁ£ ©106.4_,,| ©53 38 16
125 347 12 8.5 | 49.7:1| M14X30 (47 :0.18 |47 z0.16 0 18 |85 | 2.3=z01| ©137 €D124ﬁ ®116_,, | ©70 46 22
180 37 12 B85 | 49.7+1| M14X30 |47 :0.16(|47 20,16 0 18 |85 | 2.3z01| O137 €l)12‘5(“e @116, | ©70 46 25
250 431 15 12 | 61.4:1| M20X40 |63+0.16(|6320.16 0 26 9 2.3:01| ®180 | ®165, | 0157, | 088 64 30.5
300 450 15 12 61.4:1| M20X40 |63:0.16|6320.16 0 26 9 2.3:01| ®180 03135‘3 157 ,, | @88 B4 34
355 460 15 12 | 61.4:1| M20X40 |63:016|632016 0 26 9 2.3:01| @180 | 165, | ©157,, | 088 64 34
370 460 15 12 | 61.4:1 | M20X40 |63:0.18|63=20.16 0 26 9 2.3=01| 0180 | ©165, | ©157_, | 088 64 34




HA4VSO RImEETER

Variable displacement Pump HA4VSO

WiERERNG, THENERERE, MUSEREE,

1752845 Koo
LRI 500

With through drive shaft, without shaft coupler, without adapter flange, closed with pressure tight cover.
Ordering code K99

Size 500

HaE

View without cover

-

12 292 12 93
+02 +0.2
72-02 | 72-02
) O\
37 & O G 73
8| 9% O W
i [=1 (=]
D > ~
w| @ e
o | ‘o o) fe o ~
gl ~ Q o olQ =
N® @ M20Xx24
70.708|70.702
+0.2 +0.2
88-02 | 88-02
-
N
# 2 size

HA4VS040DFR/10X-PPB13N00

HA4VSO40DR/10X-PPB13N00

HA4VSO40DRG/10X-PPB13N00

HA4VSO40LR2/10R-PPB13N00

HA4VS0O40LR2G/10R-PPB13N00

HA4VS071DFR/10X-PPB13N00

HA4VSO71DR/10X-PPB13N00

HA4VS0O71DRG/10X-PPB13N00

HA4VSO71LR2/10R-PPB13N00

HA4VSO71LR2G/10R-PPB13N00

HA4VSO125DFR/22R-PPB13N00

HA4VS0O125DR/22R-PPB13N00

HA4VS0125DR/22R-VPB13N00

HA4VSO125LR2/22R-PPB13N00

HA4VSO0125LR2G/22R-PPB13N00

HA4VS0O125LR2N/22R-PPB13N00

## M—-N
profile M-N
O-rings
O BM165x3785HA

ERRBAN
in supply

02
115
+007

P160 +002
@169*04

\ 4XM16X30

alarﬂ.i

110
11

WS55X1.25X30X42X9g —
DIN 5480

41 73
S0S HEERHLKEEN

S20 HEBRREKER

& £ size

HA4VSO180DFR/22R-PPB13N00

HA4VSO180DR/22R-PPB13N00

HA4VSO180DRG/22R-PPB13N00

HA4VSO180LR2/22R-PPB13N00

HA4VSO180LR2G/22R-PPB13N00

HA4VSO180LR2N/22R-PPB13N00

HA4VSO250DFR/30R-PPB13N00

HA4VS0O250DR/30R-PPB13N00

HA4VS0250DRG/30R-PPB13N00

HA4VS0250LR2/30R-PPB13N00

HA4VS0O250LR2G/30R-PPB13N00

HA4VSO250LR2N/30R-PPB13N00

to mounting face

to mounting face




	恒源选型手册2016(1) 85
	恒源选型手册2016(1) 86
	恒源选型手册2016(1) 87
	恒源选型手册2016(1) 88
	恒源选型手册2016(1) 89
	恒源选型手册2016(1) 90
	恒源选型手册2016(1) 91
	恒源选型手册2016(1) 92
	恒源选型手册2016(1) 93
	恒源选型手册2016(1) 94
	恒源选型手册2016(1) 95
	恒源选型手册2016(1) 96
	恒源选型手册2016(1) 97
	恒源选型手册2016(1) 98
	恒源选型手册2016(1) 99
	恒源选型手册2016(1) 100
	恒源选型手册2016(1) 101
	恒源选型手册2016(1) 102
	恒源选型手册2016(1) 103
	恒源选型手册2016(1) 104
	恒源选型手册2016(1) 105
	恒源选型手册2016(1) 106
	恒源选型手册2016(1) 107
	恒源选型手册2016(1) 108
	恒源选型手册2016(1) 109
	恒源选型手册2016(1) 110
	恒源选型手册2016(1) 111
	恒源选型手册2016(1) 112
	恒源选型手册2016(1) 113
	恒源选型手册2016(1) 114
	恒源选型手册2016(1) 115

